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Cuadro 8 (continuación 4)/Table 8 (continued 4)
Cuba: tablas abreviadas de mortalidada

 Cuba: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males

0 1 0.013 0.013  100 000  1 305  98 866 0.985 b 7 290 506 72.9
1 4 0.001 0.004  98 695   418  393 732 0.996 c 7 191 640 72.9
5 5 0.000 0.002  98 278   233  490 806 0.998 6 797 908 69.2

10 5 0.001 0.003  98 045   255  489 587 0.996 6 307 102 64.3
15 5 0.001 0.005  97 790   515  487 664 0.994 5 817 515 59.5
20 5 0.001 0.007  97 275   681  484 674 0.993 5 329 851 54.8
25 5 0.001 0.007  96 594   715  481 185 0.992 4 845 177 50.2
30 5 0.002 0.008  95 880   798  477 404 0.991 4 363 992 45.5
35 5 0.002 0.010  95 082   986  472 944 0.987 3 886 588 40.9
40 5 0.003 0.015  94 096  1 395  466 991 0.981 3 413 644 36.3
45 5 0.004 0.022  92 701  2 062  458 349 0.972 2 946 654 31.8
50 5 0.007 0.033  90 639  3 012  445 664 0.959 2 488 305 27.5
55 5 0.010 0.050  87 627  4 370  427 209 0.936 2 042 642 23.3
60 5 0.016 0.079  83 257  6 537  399 943 0.902 1 615 432 19.4
65 5 0.025 0.119  76 720  9 137  360 758 0.855 1 215 489 15.8
70 5 0.038 0.175  67 583  11 856  308 274 0.784  854 732 12.6
75 5 0.061 0.265  55 727  14 749  241 761 0.677  546 457 9.8
80 5 0.101 0.402  40 977  16 467  163 719 0.547  304 696 7.4
85 5 0.151 0.540  24 510  13 230  89 476 0.420  140 977 5.8
90 5 0.211 0.667  11 280  7 527  37 584 0.307  51 502 4.6
95 5 0.279 0.771  3 753  2 893  11 534 0.171 d  13 918 3.7

100 ω 0.361 1.000   860   860  2 384  2 384 2.8
Mujeres/Females

0 1 0.010 0.010  100 000   981  99 167 0.989 b 7 668 731 76.7
1 4 0.001 0.004  99 019   368  395 117 0.997 c 7 569 563 76.4
5 5 0.000 0.002  98 651   158  492 861 0.998 7 174 446 72.7

10 5 0.000 0.002  98 493   170  492 042 0.997 6 681 585 67.8
15 5 0.001 0.004  98 324   371  490 691 0.996 6 189 543 63.0
20 5 0.001 0.005  97 953   459  488 617 0.995 5 698 852 58.2
25 5 0.001 0.004  97 494   435  486 380 0.995 5 210 235 53.4
30 5 0.001 0.005  97 058   513  484 008 0.994 4 723 855 48.7
35 5 0.001 0.007  96 545   678  481 029 0.991 4 239 847 43.9
40 5 0.002 0.011  95 867  1 021  476 781 0.987 3 758 818 39.2
45 5 0.003 0.016  94 846  1 520  470 428 0.980 3 282 036 34.6
50 5 0.005 0.023  93 325  2 188  461 158 0.971 2 811 608 30.1
55 5 0.007 0.035  91 138  3 216  447 648 0.954 2 350 450 25.8
60 5 0.012 0.057  87 921  5 016  427 069 0.928 1 902 803 21.6
65 5 0.018 0.087  82 906  7 242  396 424 0.892 1 475 734 17.8
70 5 0.028 0.130  75 664  9 817  353 777 0.835 1 079 310 14.3
75 5 0.045 0.205  65 847  13 492  295 505 0.733  725 532 11.0
80 5 0.083 0.344  52 355  18 032  216 694 0.597  430 027 8.2
85 5 0.132 0.492  34 323  16 876  129 425 0.460  213 333 6.2
90 5 0.194 0.634  17 447  11 069  59 562 0.334  83 908 4.8
95 5 0.265 0.753  6 378  4 801  19 886 0.183 d  24 347 3.8

100 ω 0.354 1.000  1 577  1 577  4 460  4 460 2.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


